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Part A
Answer any ten questions.

Each question carries 2 marks.

1. Prince Metternich.

2. Batile of Trafalgar.

3. Ultra Nationalism.

4. Adolf Hitler.

5. Bloody Sunday Incident.

6. Gorbachev.

7. Non renewable resources.

8. National Recovery Administration .
9. Environment Education.

10. Civil Disobedience movement.
11. Cold war.

12. SAARC.
(10x2=20)
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Part B

Answer any six questions.

Each question carries 5 marks.

Did the French Revolution affect Feudalism?

Why was Frankfort Parliament summouned? What did it did so?
Discuss the main reason behind the formation of Tripple Entente.
What was the outcome of War Communism?

What were the features of the New Economic policy ?

How did the Great Depression affect people?

Analyse the role played by Woodrow Wilson in the formation of League of Nation.

What do you Know about UN Trusteeship Council? Is it relevent today?

Briefly explain the influence of mass media in mobilising public opinion.

PartC
Answer any two questions.

Each question carries 15 marks.

Descrbe ltalian Unification under Great leaders.

Explain the Legacy of Chinese Revolution .

(6x5=30)

What is Globalization? Hoe does Globalization help in interconnection among different

countries?

"Terrorism is one of the major threat to humanity". Comment on the statment.

(2x15=30)



